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B f(x,y) = e*siny & SIRDIHE T~ 70— VERT X, W69 22MIds2L)
E7-. TORRIZr=-01, y=—-01%2MRALTe *sin(—0.1) = —0.08173668839360 - - -
L &,

flz,y) D 3PEREBZ KDL & FFLOED TH S,

folz,y) = 2¢* siny, f,(z,y) = e cosy
Fra(,y) = 46 siny, fu(z,y) = 263 cosy, fy,(2,y) = —e*siny

fxwx(xay) = 862x Sil’ly, fa:xy(xay) = 46 v Cos Yy,
Jogy(@,y) = =2e* siny, f,(r,y) = —€** cosy

(z,y) = (0,0) ZRAT B &

fx($7y> = 07 fy(xay) =1 f:m(xvy) = 07 fxy(xay) = 27 fyy(xay> =0
fx:m(x?y) =0, fw:vy<x7y) =4, facyy<xvy) =0, fyyy(%?]) =-1
ThHdro, v7u—V VERMX

1
f(x,y):()—l—(Oxx—l—lXy>—|—§(0xx2+2x2xxy+0xy2)

1
g(Oxx +3x4xa’y+3x0xay’+ (- 1)><y3>+R4

1 1
=y+ 20y + (120% —y*) =y + 20y + 207y — 2y’ + Ry

FEEIZ 2 =—-01, y=—-01%2KRAT S &
0.012+0.001  —600+120—11 491

—0.1+0.02 4 — = = 1
0.1+40.02 + : 6000 ~3000 = 00818333333
DEHIT, PRVIEWVETHSEZ W bh b, ZOft (z,y) = (0,0) ITEWVEEZRAT S &
(z,y) = (0.1,0.1) DX E: HEOfH0.121936810- - - JCBUE 0.121833333 - - -
(z,y) = (0.2,0.1) D& E: HEODE0.148933956 - - - JEBUE 0.147833333 - - -
(z,y) = (=0.2,0.1) D& & : HEODfH 0.066920340 - - - JEABUE 0.067833333 - - -
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BEEL f (2, y) = 32° + 20y® — 4oy DREZ IR DRI U 72h > THRD &,

(1) folz,y), fylz,y) Z2RD D,
(2) folz,y) =0, f,(z,y) = 0 ZFARHZE2 T 2,y KD B,
(3) fea(z,9), fyy(3j Y), fmy@ Y) ZRD D,

(4) A(x,y) = fue(@,9) firy(2,y) — (fay(2,9))* KD B,
(5) Az, y) & feolw,y) &> THRAEDHIE,
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